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aT.

38,

39.

40.

41.

42,

43,

44,

45.

46.

= —3422.5 + 9250 — 500
= 53275
The profit is §5327.50.
(p+6ip—4)=p>—4p + 6p — 24
—p®+2p — 24
{m + 6)a +3)=a?+ 3a + 6a + 18
=a?+9a + 18
(b +5)b —5)=5b2—5b+5b—25

-b? 25
(6 — )6 +2)=36+ 62— 6z — 22
=36 — 22

(3x + 8} 2x + 6) = (3x)(2x) + 3x(6) + 8(2x) + B(6)
= Gx? + 18x + 16x + 48
= Bx2 + 34x + 48

(dy — B} 2y + T) = (4y)2y) + 4y(T) — 6{2y) — B(T)
= 8y? + 28y — 12y — 42
=8y? + 16y — 42

(a® — b)a® + b) = a® + a®h — a® — b?
— b B2

(m? — 5)(2m2 + 3) = 2m* + 3m? — 10m? — 15

=2m!— Tm?— 15
(x— 3y =(x — 3y)ix — &)

=% — Sry — 3y + 9
=I2—5-1)f+9)‘2
(1+4eP=1(1+4e)1+ 4c)
=1+ 4c + 4c + 167
=1+ 8 + 16¢7

47. d ¥d" — 2d® + d V) =d? — 247 td'*

=d? -2+ 5

48, x~3yXyxt + y e 4 y 02

49,

a4,

. (6x — 5N —3x + 2}

=Il-).-3 +onl + x'l_y"
=xyi+y+ %
(36 —c)?*
=(3b —c)(3b — cH3b —c)
= (962 — 3bc — 3bc + c)3h —¢)
= {92 — Bbc + c2)(3b —¢c)
= 27b% — 9b% — 18b%c + Bbc2 + 3bc? — &8
=276% — 278% + 9bc? — &2

L@+ ay + 30—y
=x° — 2%y + 2%y —wyPHay® -y
=3 — i
(c? — Bed — 2d%) + (Tc® — ed + Bd®) — (—c* + Bed — d¥)
=c? — 6ed — 2d7+ Te*— ed + Bd? + % — Bed + d°
= 6%+ T2+ %) + (—Bed — ed — Sed) + (—2d42 + Bd® + d7)
=0c% — 12ed + Td?

—18x% + 12x + 15x — 10
—18x% + 27x — 10

R+ WE=(R+WIR+W)

=R?+RW+ WR + W2
=R+ 2RW + W?
degree: 14
verification: (x° + Dixf + D =xM + x5+ 28 + 1

November 18, 2011

interest rate. Answers should include the
following.
® If an amount A grows by r percent for n years,
the amount will be A(1 + ry after n years.
When this expression is expanded, a polynomial
results.
13.872(1 + r)®, 13,8721 + 41,6162 + 41,6161
+ 13,872
Evaluate one of the expressions when r = 0.04.
For example, 13,872(1 + r)* = 13,872(1.04)° or
$15,604.11 to the nearest cent. The value given
in the table is $15,604 rounded to the nearest
dollar.
56. D; 1 + x + x*, degree: 3
The monomial with the greatest degree is x°.

7. Bilxty)—(y+z)—lxtz)=x+y—y—2—x—=z2
-2

Page 232 Maintain Your Skills
58. (—4d?)3 = (—4)%(d?2P
= —B4dE
59. 5rfi2rt)® = 5rid(4ri?)
= 20r°3%4
60. yx‘,-ae_;_ =%

=

2
|

(3ab\2 (b
61. (Gom) = (as
B
= 427

62 dx—y=10
2+ 3y =14

[; é][ﬂ I [12

x=1,y=4
The solution is (1, 4.

14
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o a 7.3
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xy v Xy

=Bexl-l.pyi-1_G.xlyi-143.,2-1.40-1
= Baly — B ly2 + Juy?

T
=5y—ﬁ}T+3.xy2

17. (28c%d — 42¢d? + 56cd®) + (1ded)
_ 98cd 42ed? | Bfed

= Med T 1ded T 1ded

=3 -1 g1 AT gy -1, 08 g1 8-
b d — T d g e s
=22 — 3d + 447

18. (12mn? + 9m?n? — 15m?n) + (3mn)
. 1Zmn” Om®n® i5m®n
— 3mn + 83mn ~ Zmna
=Ji2_m1-|_nu-l+§.mz-1.nz-J_L:..mz-t.nj-:

=4n? + 3mn — 5m
19. (2y%z + 4yZ% — BydzS)yz) !
_ Byl 4 4yt — Bykad
¥
Byls gy Byt
¥z vz
=2‘y-'1 “zj'l+4~y'-"]-zz'i—8-y" I“P_‘D'
=292 + dyz — Byd?
20, a*p? — a?b + 2a)—ab)?

_ o' — o' + 2o
- —ab
at®  a’h Za

—ab ~ —ab T —ab
=_EE—1,b2—1+62—1,b1—1_2ﬂ1—1,b—1

2
=—a’hta-—73

2"A1 8 -20 0

2 20 0
1 10 aqo0
(b® + 82 — 20B) + (b — 2) = b2 + 10b
22& 1 -12 —-45
-3 45
1 -15] o0
(32 —12vx —45) + (x + 3)=x — 15
23 4|1 2 -5 12
-4 8 -12
I =2 g @

n®+2n2—6n+12)+(n+4)=n?—2n+ 3

24, 2+ e+ 5
c— 220 — 3¢+ 3c— 4
(=) 2c3 — 4¢?

2+ 3c

(—)e2 —2¢
bo— 4
(—)be — 10
6

(23 — 32+ 3c -4+ (c—2)
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- x* — Bx®+11x—22
x+ 2kt — 3% +

25

2+ 0x— B
(=) i+ 2¢°
58+ 2
{—) —5z% — 1022
1142 + O
(—) 11x + 22¢
99y — &
(—) —22¢ —44
39
xf —3xf+22-B) = (x+2)
=2 — 5?4 10x - 22+
26. o | g 0 0 -18 0 -120
12 24 48 60 120
6 12 24 30 60 0

(Bre® — 18w?2 — 120) = (w — 2)

= Bw4 + 12w + 24w + 30w + 6O

27. x>
x—ah® — 42
(—)a® — da?
0
(23 —dx?) = (x —4) =22
28. x2+3x+ O
x—3h% + a2+ 0x — 27
(—)x® — 8a?
Sx? + Ox
(—) 822 — Ox
O — 27
(=) 9 — 27
0

(- 2T+ (x—3)=232+3x+9

29. 22— y—1
y+4h®+ 3% -5y — 4

(—)y* + dy?
by
(=) -4y
—y—4
(=) -y —4
0
oy -4 —y2—y—1
30, m2 ==\ 7
m + 3lm? + 3m? — Tm — 21
(=) m? + 3m?
—Tm — 21
(=) —Tm — 21
0
m® + 3m® — Tm — 21 =m2—T

November 18, 2011

31. a*— Ga*—Ta+ T
a + 1a* — 5a® — 13a% + Oa + 10
(=)a*+ ad
—6a? — 13a2
(=) —6a* — 6ag®
—Ta? + Oa
(=) —Ta? — Ta
Ta + 10
(= Ta+ 7
3
Eil_am_lg““m=a3—6t12—7a+?+ﬂ—3—1
32 2mi+ mi+ 3m-—1

m — 3Bm* — 5m? + 0m? — 10m + 8
(=) 2m?* — 6m®

m? + Om?
(=1 m® — 3m?
am® — 10m
(—)3m*> — 9m
-m+ 8
(=)—m+3
b
2t —te’ _m 8 _ 2m®+m?+ 3m — 1+ﬁ
33. xt— e+ 22— G+ 19
x+ 8+ 0t — T + 2+ x+ 1
(—) x% + 3xt
—3yd — TP
(=) —3xt — Qa3
2x® + Ox?
(—) 2x7 4 Ba2
—6x2+ x
{(—) —6x2 — 18z
19r+ 1
(—) 19x + 57
—bh6
[
34, Get— 2+ 22 —4c+9
c+ 28+ 5t + 0 + 02+ c+5
(=) 3e® + 6t
—ct + 0c?
(=) —c*— 2¢?
2c® + 0c?
(=) 2c2 + 4ac?
—-de?+ ¢
(=) —4c? — 8¢
9+ 5
(—) 8¢ + 18
-13
Bfebeltetb gt (3422 —dot9—

3 _q ] g ] 15
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36. 262 — b1 49, A0 tE —e—1 _ G+ 5 —3r— 114
b+ 12h+ BZ—2b +3 * o
(—) 2b° + 2p2 R
—b2 — 2b =
G et Ef o B & A4
—b+3 4 1 T3 T
' 1 1 1
(=) -b—1 -1 —1 1
s 1 1 -1] o
(2B% +b% — 2b + 3B + 1) s
— 20 +b -0 +3 Arthe -l _yrgp—1
4 43. 4 -
=202 —b—1+5,7 x x
o 2 +32xt T - -3 -6
3% 2|1 o o -3 o -20 (=) 2t + 3
2 4 g8 10 20 —2% - 3x
(=) —2x% — 3x
1 2 4 5 10 0 _g
b _ a2 .
(@ — 362 — 20xt — 2t = A2 2400 0B -6 _ 3, 6
=; 3 2
=+ 2%+ 42 + 5t + 10 4d, 923 4 42 y
38. —2 1 0 0 0 i} 32 Sx+ 16t + 57+ — G+ 1
@& 4 % ia —ag (=) 6t + 2?
3x8 + 22
i -2 4 -B 18 0 (=) 3 + 22
2 = 5+ 22 —Jx+1
S+ 82)y + 2l =25
¥ ¥ s ()—38x—1
=y — 2y3 + 442 — By + 16 9
39, 32 —-2t+3 Bt +B? +2%— 3+ 1 g
2t + 3)665 + 52 + 01 + 9 = B i e
(—) Bt3 + 02 45, x—3
—4#2 + Ot 2+ 18 — 32 +x—3
(=) —4¢2 — 6t (=)2* +x
6t+9 —322 -3
(=16t +9 (=) —8x2 —3
0 0
(667 + 512 + 0) = (24 + 3) =32 — 2t + 3 rodie-8_, 3
40, i hf— 4h + 17 48, 2 -1
2h + 8Rh% — Bh*+22h + 0 2+98F 22—8x+5
(=) 2R + 3h*° (—)xt + 2x2
—8h% + 22k T 2+t
(=) —8h% — 12h (=) =22 —9
34h + 0O —Bx+ 7
(=134h + 51 Eal et R = i
51 #yg 4~ 1t ayg
" 47. x+2
2R — Bh2 + 22h) < (2h + 3
: : ) {51 ; a4+ x+ 1+ 322 + 3x+ 2
=ht—4h +17 — 55 = e x
41. 3d2+2d + 3 224+ 2x + 2
3d — 2J0d° + 0d2 + 6d — B (=) 2af +2v + 2
(—) 9d¥ — Gd? 0
6d” + 5d Sl Bd g
(=) 6d? — 4d
od — 8 48, x5
(=yod — 8 2 —x+ 205 — T+ Bx— 6
_a (=) ad — a2+ 2
nil . e3 o a —Tv2 L G — A
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